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UNDERSTANDING THE NATURE
AND PURPOSE OF BUSINESS

Giva two racsons why businasses
era important for tha UK....

What s the difierancs batween &
good and sanvica?

1.
2.

Add labels to the diagram bslow,
The Transformational Procass’

UNDERSTANDING
DIFFERENT
BUSINESS FORMS.

Defina tha tarm
‘Sola Tradar’

o g

Whatisa PLC?

The terms ‘primary’. ‘secondary’
and ‘tartiary (and somatimas
quaternery) refar to businass
sactors. Dafine these terms,

Primary

Secondary

Tertiery.

Quatarnary =

Itis somatimas said that objectives
should ba SMART. Writa and
dafine the five paris of this
acronym below.

> oz

R
:

Give an exampla of  shorttarm
and long term objectie for the
businass Sky UK.

Shorttarm:

Fillin tha gaps on tha hisrerchy of
‘objectives...

Dafin tha tarm ‘prolfi

CASHIS ()

Using an sxampl, sxplain why it
is often bettar to focus on long-
tarm growth rathar then short
torm succass.

Long term:

Whatis en LTD?

Giva advantages and disedvantagas of tha following businass structuras.
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Explain tha term
“dividand using an
axempla.

UNDERSTANDING THAT

BUSINESSES OPERATE WITHIN
AN EXTERNAL ENVIRONMENT

Explain brisfly what s maant by
the tarm ‘axtarnal environment.

Explain brisfyy what is maant by
the term ‘demand’.

Explain brisfly what s maant by
the tarm ‘GDP.

Explain brisfly what s maant by
tha term ‘disposabla/resl incoma'.

State and dascribe thra diferant
external influsnces on a businass.

1.

Whet 6o tha following businass
salling types maan?

B28=
B2C=

How willthe leval of disposabls
incoma that a couniry has par
‘capita affact sales of a ratail
business?

Defins demography =

Which products/sactors may
ramein unaffactad aven whan
disposabla incoma falls?

Giva a rasson why @ sols tradar may wish to incorporata into & limitad company.

What s maant by an intarast reta?

Give an exampla of sach of the.
following types of cost..
Fixad cost=

Varizbla cost =

Explain, brisfly. the diffsrencs
batwaen profitand ravanus.

fthe veriabls costs per nitfor
Peuls pletas era £0.50 par un't,
nd the businass has an outputof
25,000 units, with total costs of
£40,000, what ars the fixed costs.
for tha business?

How can wa calculeta fotal costs
for & businass?

1f Adem's Applas hes fixed costs of
£1000, snd fotel costs of £3500,

what ara the veriabla costs for the
businass? Show your workings.

Whet s tha formul for celculeting
profit?

What s 2 stakeholdsr?

Whet s & partnarship? Give an sxampla of on in tha
UK.

Whatis atekeover and how does it occur? Can you
think of an example of a recent tekeover?

Briafly sxplain the diffaranca
batwean & public and private
Sactor orgenisation.

Whet is meant by the tarm
privatisation?

Giva thras factors thet can
influence & businass's shara
price.

Giva an axampla of ona public.
and one privats organisation.

Whatis & NFP. or not for-proft,

euBLIC businass? Giva an exemple.

PRIVAT:

What typ of businass ownarship

What s the formula for

calculating merket
captalisation’?

Explain in 200 words o lass how
intersst ratas affact damand in an
industry of your choice.

If e company sells 10,000 sheres
ach stthe price of £100, what
is the markat capitalistion
valu?

sllows a company to sall public
shares?

Whatis maant by the tarm ‘Merkat
Captalisation’?

Whet s @ mutual orgenisatior

How can compatiton in & merkat
nagatively impect a business?

Briafly sxplain two ways in which a
businass may contribute to
anvironmantal dagredation.

Dafina tha tarm Fairtrads’

Giva ona sxempla of a product
that has tha Fairtrads stamp.

Feirirada products ara banaficial
for the growers/producars of a
product. Howsver, they also
provida bansfits for tha ratailar.

Give an exampl,

What is maant by ‘sustsinability?
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